mnewcollaborative

LEARNING TRUST

Mathematics
Y11 to Y12 Mathematics Summer Independent Learning

June to August 2023
Please read the following instructions very carefully and ensure you label and collate all your work ready for
checking in September.

For your first maths lesson please bring

A large A4 folder with five subject dividers.

These instructions with the tables filled in (print out/copy the tables onto A4 paper).
Dated and titled work done on each of the topics listed in Task 1 & 3.

The two practice initial tests (Task 2), fully marked and reviewed.

A list of questions you need to ask prior to doing your initial test.

Task 1: Preparation for A level Maths

1. For each topic, work through video.

2. Complete worksheet using the technique and layout used in the video.

3. Make sure you title and date your work.

4. Mark and correct work.

5. Do improvement work as necessary.

6. Repeat for each topic.

7. Keep track by filling in the following table.

8 Collate your work for each topic together so it is easy to check in September. (See point 3!)
Topic %@ Wor(l;[ilgeet Details of Improvement Work Completed
B1 Indices
B2 Surds

B3 Quadratics

B4 Simultaneous
Equations

B5 Inequalities

E1 Triangle
Geometry



https://www.youtube.com/watch?v=1lThXgU08S0&list=PLU9Ai-cMKFlVw_MLkxc_M6O4yOd9xcexl
https://www.youtube.com/watch?v=1lThXgU08S0&list=PLU9Ai-cMKFlVw_MLkxc_M6O4yOd9xcexl

Task

LA S

2

Fill in the review sheet below.

Do Practice Initial Test 1 under exam conditions.

Revisit relevant videos and worksheets.

Update review sheet with details of work completed.

Mark and correct your test and identify any improvement work necessary.

Topic

Score

Improvement Work to Do

Tick

B1 Indices

11

B2 Surds

10

B3 Quadratics

49

B4 Simultaneous Equations

11

B5 Inequalities

11

E1 Triangle Geometry

12

Total

114

6
7.
8.
9

Fill in the review sheet below.

Do Practice Initial Test 2 under exam conditions.

Revisit relevant videos and worksheets.

10. Update review sheet with details of work completed.

Mark and correct your test and identify any improvement work necessary.

11. Make a list of questions you need to ask prior to doing your initial test for real!

Topic

Score

Improvement Work to Do

Tick

Questions to ask...

B1 Indices

11

B2 Surds

10

B3 Quadratics

49

B4 Simultaneous Equations

11

B5 Inequalities

11

E1 Triangle Geometry

12

Total

114




Video hyperlinks

B1 Indices

https://youtu.be/1IThXgU08S0

https://youtu.be/v5bn4HZrmQs

https://youtu.be/WO0h4rHj88ys

B2 Surds

https://youtu.be/jHelde32Ytl

B3 Quadratics

https://youtu.be/Pziws8ojnlk

https://youtu.be/sn joGVj15w

https://youtu.be/kk7p6hjn7hQ

https://youtu.be/tolgbX NXHo

B4 Simultaneous Equations

https://youtu.be/4SRtwS5unwE

B5 Inequalities

https://youtu.be/wDut-In 7Wg

E1 Triangle Geometry

https://youtu.be/uVI6TAbOVBg



https://youtu.be/1lThXgU08S0
https://youtu.be/v5bn4HZrmQs
https://youtu.be/W0h4rHj88ys
https://youtu.be/jHelde32YtI
https://youtu.be/Pziws8ojnlk
https://youtu.be/sn_joGVj15w
https://youtu.be/kk7p6hjn7hQ
https://youtu.be/toIqbX_NXHo
https://youtu.be/4SRtwS5unwE
https://youtu.be/wDut-In_7Wg
https://youtu.be/uVl6TAb0vBg

Topic: B1 Indices

Exam Questions (OCR/MEI C1 Questions)

1. | Jan 05 Q5
Find the value of the following.

® (4

(i) 164

(2]
(2]

2. | June 05 Q6
Simplify the following.

(i) a°

(1]
(1
(3]

(if) a® + a2

(i) (9a%p?)?

3. | June 06 Q9
Simplify the following.

-

—

6
81

(i)

=

(2]

.. 12(a*b%c)?
(ii) p: (3]

4. | Jan 07 Q6
Find the value of each of the following, giving each answer as an integer or fraction as appropriate.

(i 25

bk

(2]

(i) (%) 2]

5. | June 07 Q5
(i) Find a, given that a® = 64x'%y?,

(2]

-5

1
(ii) Find the value of (;) 5 [2]
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Topic: B2 Surds m newcollaborative

LEARNING TRUST
Exam Questions (AQA Questions)

1. | Jan 05 Q5
(a) Simplify (V12 +2)(V12-2). (2 marks)
(b) Express V12 in the form m+\/3. where m is an integer. (1 mark)
12 42
(¢c) Express \/_—+ in the form a + hV/3, where a and b are integers. (4 marks)
V12 -2
2. | June 05 Q5
Express each of the following in the form m + nv/3, where m and n are integers:
(a) (\/5 - 1)2; (2 marks)
. V3+1
b 3 (3 marks
(b) -1 )
3. |Jan06 Q1
(a) Simplify (V5 +2)(v/5 -2). (2 marks)
(b) Express V8 4+ V18 in the form nv/2, where n is an integer. (2 marks)
4. | June 06 Q4
(a) Express (4\/5 - 1) (\/5_ + 3) in the form p + g+/5, where p and g are integers.
(3 marks)
(b) Show that % is an integer and find its value. (3 marks)
5. | Jan 07 Q3
V543, ;
(a) Express /5 —2 in the form p\/5 + ¢, where p and g are integers. (4 marks)
(b) (i) Express V45 in the form nv/S., where n is an integer. (1 mark)
(i1) Solve the equation
xv20 = 7V5 — V45
giving your answer in its simplest form. (3 marks)
6. | June 07 Q7
63 14
(a) Express \/3— - W in the form n+/7, where n is an integer. (3 marks)
7+1
(b) Express v7+ in the form pﬁ + g, where p and g are integers. (4 marks)

v7-2




Exam Questinns Soldtiols - Swds
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Topic: B3 Quadratics

Exam Questions (AQA C1 Questions)

1. | Jan 2011 Q7
(a) (i) Express 4 — 10x — x2 in the form p—(x+ q)z. (2 marks)
(ii) Hence write down the equation of the line of symmetry of the curve with equation
y=4-10x - x2. (1 mark)
2. | June11 Q4
(a) Express x + 5x + 7 in the form (x + p)2 + g, where p and g are rational numbers.
(3 marks)
(b) A curve has equation y = x4 Sx 7.
(i) Find the coordinates of the vertex of the curve. (2 marks)
(ii) State the equation of the line of symmetry of the curve. (1 mark)
(iii) Sketch the curve, stating the value of the intercept on the y-axis. (3 marks)
(c) Describe the geometrical transformation that maps the graph of y = x2 onto the
graph of y = x? 4 5x + 7. (3 marks)
3. |Jan12Q2
(a) Factorise x2 — 4x — 12. (1 mark)
(b) Sketch the graph with equation y = x2 — 4x — 12, stating the values where the curve
crosses the coordinate axes. (4 marks)
(c) (i) Express x? —4x — 12 in the form (x — p)2 — g, where p and g are positive integers.
(2 marks)
(ii) Hence find the minimum value of x2—4x—12. (1 mark)
(d) The curve with equation y = x2 — 4x — 12 is translated by the vector [ _;] ;
Find an equation of the new curve. You need not simplify your answer. (2 marks)
4. | June 12 Q5
(a) (i) Express x2 —3x+5 in the form (x— p)2 +q. (2 marks)

(ii) Hence write down the equation of the line of symmetry of the curve with equation
Jri= x2 —3x+5. (1 mark)




Jan 13 Q4

(a) (i) Express x2 — 6x+ 11 in the form (x — p)2 +q. (2 marks)
(ii) Use the result from part (a)(i) to show that the equation x2 —6x+ 11 =0 has no
real solutions. (2 marks)
(b) A curve has equation y = x> — Gx 11
(i) Find the coordinates of the vertex of the curve. (2 marks)
(if) Sketch the curve, indicating the value of y where the curve crosses the y-axis.
(3 marks)
(iii) Describe the geometrical transformation that maps the curve with equation
y=x% —6x+ 11 onto the curve with equation y = x. (3 marks)
June 13 Q5 "
(a) (i) Express 2x% 4+ 6x+ 5 in the form 2(x + p)” + g, where p and g are rational
numbers. (2 marks)
(i) Hence write down the minimum value of 2x2 + 6x + 5. (1 mark)










Topic B4Simultaneous equations
Exam Questions (AQA C1 Questions)

1
Solve the simultaneous equations
y—-3x+2=0
y2 _x—6x2=0
(Total 7 marks)
2
The curve C has equation y = x2 — 4 and the straight line / has equation y + 3x = 0.
(a) In the space below, sketch C and / on the same axes.
3)
(b)  Write down the coordinates of the points at which C meets the coordinate axes.
(2)
(c) Using algebra, find the coordinates of the points at which / intersects C.
“4)
(Total 9 marks)
3 | Jan011Q7
(b) The curve C has equation y =4 — 10x — x2 and the line L has equation
v =k(4x — 13), where k is a constant.
(i) Show that the x-coordinates of any points of intersection of the curve C with the
line L satisfy the equation
x2 4202k +5)x — (13k+4) =0 (1 mark)
4. | Jan13Q8
A curve has equation y = 2x* — x — 1 and a line has equation y = k(2x — 3), where
k is a constant.
(a) Show that the x-coordinate of any point of intersection of the curve and the line
satisfies the equation
2% — (2%k+)x+3k—1=0 (1 mark)
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Topic: B5 Inequalities

LEARNING TRUST

mnewcollaborative

Exam Questions (AQA C1 Questions)

1. | Jan11 Q7
(iii) Solve the inequality 4k2 +33k+29>0. (4 marks)
2. | June 11 Q7
Solve each of the following inequalities:
(a) 2(4-3x)>5—-4(x+2); (2 marks)
(b) 2x2 + 5x =12, (4 marks)
3. |Jan12Q6
A rectangular garden is to have width x metres and length (x + 4) metres.
(a) The perimeter of the garden needs to be greater than 30 metres.
Show that 2x > 11. (1 mark)
(b) The area of the garden needs to be less than 96 square metres.
Show that x2 + 4x — 96 < 0. (1 mark)
(c) Solve the inequality x2 + 4x — 96 < 0. (4 marks)
(d) Hence determine the possible values of the width of the garden. (1 mark)
4. | June 12 Q7a

(ii) Solve the inequality 3x2 - 10x+8 < 0. (4 marks)
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Topic E1 Triangle Geometry
Exam Questions (AQA C2 Questions)

1. | June 2006 Q2

The diagram shows a triangle ABC.

B
12¢m
100°
A 4.8cm C

The lengths of AC and BC are 4.8 cm and 12 cm respectively.

The size of the angle BAC is 100°.

(a) Show that angle ABC = 23.2°, correct to the nearest 0.1°. (3 marks)

(b) Calculate the area of triangle ABC, giving your answer in cm? to three significant

figures. (3 marks)

2. | Jan 2007 Q4 (adapted)

The triangle ABC, shown in the diagram, is such that BC = 6cm, AC = 5cm and 48 = 4cm.
The angle BAC is 0.

4cm S5cm

B 6cm ¢

(a) Use the cosine rule to show that cosf) = (3 marks)

00| =

(¢) Hence find the area of the triangle 4BC. (2 marks)




June 2008 Q4
The diagram shows a triangle 4ABC.

A

fos>

7.6m 83m

B C

The size of angle BAC is 65°, and the lengths of 4B and AC are 7.6m and 8.3 m
respectively.

(a) Show that the length of BC is 8.56 m, correct to three significant figures. (3 marks)

(b) Calculate the area of triangle ABC, giving your answer in m? to three significant
figures. (2 marks)

(¢) The perpendicular from 4 to BC meets BC at the point D.

Calculate the length of 4D, giving your answer to the nearest 0.1 m. (3 marks)

Jan 2011 Q3
The triangle 4BC, shown in the diagram, is such that AB = 5c¢m, 4C = 8cm,
BC = 10cm and angle BAC = 0.

A

Sem 8cm

B 10cm C

(a) Show that # = 97.9°, correct to the nearest 0.1°. (3 marks)

(b) (i) Calculate the area of triangle ABC, giving your answer, in cm?, to three significant
figures. (2 marks)

(ii) The line through A4, perpendicular to BC, meets BC at the point D. Calculate the
length of 4D, giving your answer, in c¢m, to three significant figures. (3 marks)




5. | Jan 2013 Q3
The diagram shows a triangle ABC.

B

The lengths of AC and BC are 5cm and 6 cm respectively.

The area of triangle ABC is 12.5 cm?, and angle ACB is obtuse.
Find the size of angle ACB, giving your answer to the nearest 0.1°. (3 marks)

(a)
(b)

Find the length of 4B, giving your answer to two significant figures (3 marks)

e
1. June 2006 Q2
A
b (a) snAbCc = gin 100
48 12 ("f,:)
SNABC 0-461n100 ()
12em “ :
ABC = i (rsin100)
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A +Bm C neasrest 0-1°
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56-8° (M)

areaof 4 = L x%-8x12x51nS68 () P
24-lem® b 3.5, (A) €

(b) angle ACS



& G C

(a) Using cosine role () o= coo“(}i)
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36 = 4| - 8Ocos® -
HOcos® = (nm) A=k x%xS 250828

se - =
Aeg = 9.92om b 3.5 (‘*\
(At) :
-~

<3

P

Cos®

2
8

R —
Tom $3m

"

B 0 c

(@) 05‘3 swe (e
btz 7674 83" - 2(76)(6:3) cos 65°  (m))
Bc* = 73.332%%.. . ()
BC = §.563%, .
6C = 856m b 3sf ()
® A= L% 76 % B3 66§ (my)
: 28.6m* o3s.b (M)

() 286 = ! x8.56xAD (wl)(m)
2

oo\

AD = G:7m o neaest 0-im (A1)



(a) Uaua osine (e
10t: 548 - 2(s)(8) cos® (m)
0o = 89 - 80ws® (m))
ma P

cosg = ~ !

go
e - q7.q032. -

& : 91.9° b neaest 0.1° ()

12-5 = %%5%6:810 C

(n)

(a)
sinC

&

C = 568

bit ACB s obhse

- ACB = 80 - 66k
< 123-6°

(A\)

(0) Using cosine (ole

"

AB:
Ag™

AB

%.203

(Ml)

9Tem o 25.F, (A')
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Write out the solutions to each of the following questions.

Show full working,

TASK 2

Year 12 Initial Test for Mathematics

without the use of a calculator.

Practice 1 (No Calculator)

B1 Indices

1. | Evaluate

(=)

_ZK:;

2. | Express in the form x*

v x Vx

x2

Solve
Qx—2 = 27

Solve
16% = 41-x

B2 Surds

1. | Simplify v'72

2. | Expand and simplify
(2V7 — 5V3) (3V7 + 43)

Rationalise the

denominator
11

25

Rationalise the
denominator

8 —35

2++/5

B3 Quadratics

1. Solve the following quadratic equations by factorising and use your solutions to sketch the related
quadratic graph, labelling all intersections with the coordinate axis.

(@) (()x2+3x—28=0

(b)(i()x2—6x4+9=0

(c) (i) 2x2 —21x+4+ 27 =0

(a) (ii) Sketch y = x2 4+ 3x — 28

(b) (ii) Sketchy =x2 —6x+9

(c) (ii) Sketch y = 2x2 — 21x + 27

2. Solve the following quadratic equations by completing the square and use your solutions to sketch the
related quadratic graph, labelling all intersections with the coordinate axis and turning point.

(@i)x2+4x—7=0

(b) ()11 +8x—x2=0

() (i)3x2—12x+2=0

(i) Write y = x2 4+ 4x — 7 in the
formy =a(x+b)2+c

(i) Write y = 11 4+ 8x — xZ2in the
formy=a(x+b)2+c

(i) Write y = 3x2 — 12x + 2 in the
formy =a(x+b)2+c

(iii) Sketchy = x2 + 4x — 7

(iii) Sketch y =11 + 8x — x2

(iii) Sketch y = 3x2 — 12x + 2

3. Evaluate the equation of the following quadratics, giving your answer in the form y = ax2 + bx + ¢

(a)
J

lns

(c)




B4 Simultaneous Equations

1. | Solve 2. | Solve 3. | Solve
3x+3y=—4 y=x—6 3x2—x—y2=0
5x — Zy =5 1 xX+y = 1
2

B5 Inequalities
Find the set of values for which...

1. 3(1-2t)<t—4 2. 2x2—-9x+4<0 3. 2y +3<3y(y—2)
E1 Triangle Geometry (Calculator)

1. | Calculate the length AB Calculate the angle 9

A
C
23cm A
6.2cm
72° 5.7cm
B C
17cm
B
3. | Calculate the length AB and the obtuse angle 9 Calculate the area of the triangle ABC
B
B
A
A 720
5.8m 12.1cm
11m
10.7cm
C
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83 Quacrakics
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Year 12 Initial Test for Mathematics

Write out the solutions to each of the following questions.
Show full working, without the use of a calculator.

Practice 2 (No Calculator)

B1 Indices
1. | Evaluate 2. | Express in the form x* 3. | Solve 4. | Solve
3 Y3 33%-2 = {9 x n 2x
(33) Vxx Vx @ =6
xz
B2 Surds
1. Simplify /80 2. | Expand and simplify 3. | Rationalise the 4. | Rationalise the
(7 —3+5) (3v/5 - 2) denominator denominator
7 3 4 511
5V3 7 =11
B3 Quadratics

1. Solve the following quadratic equations by factorising and use your solutions to sketch the related
guadratic graph, labelling all intersections with the coordinate axis.

(a) () x2—13x+40=0 (b) (i) x2+5x=0 (c)(i)6x2+5x—4=0

(a) (ii) Sketch y = x2 — 13x + 40 (b) (ii) Sketch y = x2 4+ 5x (c) (ii) Sketch y = 6x2 + 5x — 4

2. Solve the following quadratic equations by completing the square and use your solutions to sketch therelated
guadratic graph, labelling all intersections with the coordinate axis and turning point.

(@(i)x2+2x—20=0 (b) (i) —114+8x—x2=0 (c)(()3x2—18x+2=0

(i) Write y = x2 + 2x — 20 in the (i) Write y = —11 + 8x — x2in the (i) Write y = 3x2 — 18x + 2 in the
formy=a(x+b)2+c formy=a(x+ b)2+c formy=a(x+b)2+c

(iii) Sketch y = x2 4+ 2x — 20 (iii) Sketch y = =11 + 8x — x2 (iii) Sketch y = 3x2 — 18x + 2

3. Evaluate the equation of the following quadratics, giving your answer in the form y = ax2 + bx + ¢

(a) (b) (c)

*y +3 - ¥y
s i | AT
-1 \_t/w/l i1 \/5 X \2"\_/ '
(3,-20)




B4 Simultaneous Equations

1. | Solve Solve 3. | Solve
3x—4y =16 3y =2x—8 3x2—xy +y2=36
2x+ 12y =7 4x+y =-=5 x—2y=10

B5 Inequalities
Find the set of values for which...

1. 4(5 —-2y) =3(7 - 2y) 2. 2x2—5x—3>0 3. x2x+1)<x2+6
E1 Triangle Geometry (Calculator)

1. | Calculate the length AB Calculate the angle 9

A
370 C
5.9m
A
5.3m
69° 4.9m
B C
11.6cm
B
3. | Calculate the length AB and the obtuse angle 9 Calculate the area of the triangle ABC
B
B
12.5m
A
A 490
7.6cm 10.6m
13.2cm
C C
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